m&hﬂ | item in this section consists of a senterice with an underlined word followed by four
the option that is opposite in meaning io the underlined word and mark your response in

Wdﬂﬂ;ﬂ-mw

4.~ His conversations are always gbsurd,

(a) farcical

b rebel

mmﬁw

Tha dabals wheighdv B Uls g
la) arousing

(b)  invigorating
(e} boring

Malurin is 0 widespread disoase,

(a) endemic
(b)  pervasive
{g) common-
ld) rars




Hynonyms

irections : Each item in thin section conxinty of @ sefitence @ith on undertined word ﬂ:ﬂawnd try fowr
ﬂm"" Seluet the option that is nedarest in meaning to the underlinud tword and mark your Feaponae ME
uar At Showt adoordingly.

L Heis wlwnyn anxious. [16. A hunian baing in ahways vilngrable to afhe
(m) worried Tuman beings.
(b} dispassionate (g)  resilisnt
{e} w b elaskie
§e Mﬁiﬁ ; (o) delenteless
- e . Edlj ma!
1% mmum arogestaticinnature, | 7, His languagn s politionl and vitriolic
1 Mm () imaginative

(b}




‘Spolting Errors

3 Boell itont i1 thlx secdinn dias o denferee with theee ymedertind preseita Lahatieel (e, () and (el
mentenor to finel ot hether there o any erroe in nny wndarlined part and (ndicate your responue

, "'il Mt againat the cormpondiag totter e, () or (8 or (el Tf vou find o error, your response
I

féﬂ“’d“ﬁﬂilt Cuito u few months before protest= shook the Arab world. No error
] “} th) fil {dl

atitive runners are not ablo o rede snvehers i thicdame dpoed
_:lu

A8 we do when wi were 30, No errop

(b i
B Work hied lest you du not fil. Noerror
Uin) (h {ul ()

H Tiuﬂnm Ghnts are homa of 2600 pliant spocies anid this habitnt fragmentation
) {h)

can posu s serious threat tn endemic plants. Noerror

(] I

26, Turbidity current iz n fuint-moving current, Lhat swieps down submarine canyons.
ol (L

carrying sand and mud into tho deep ses. No rror

(1] tell

;:IE._‘_, Evipry one of tha lm;ga love b v, Noppror

Latl ihi il (dy
2T, Neither praise nor blame sesm o sffect him. No Brriy
(a) ‘thi fel d]
28.  Miiny i mvan hits succumbed to this temptation. No eror
{m) ) (L8 (el

20 A time slot of fteen minutes nes allawed o euch spoaker, Noerror
() {hi () (d)




Thomy and Plienses

Dirootions ¢ mun'.bgqu e oo iddismn  pheavey folloosd by four alternative meanings to vach, Choast
thie reRponse (a), b () or {ad) Wil (o g e ——

3L Be ovor the 4. Yollow journaliam

8l Taboona ML top () Pakd mtarytelting
1]
(B Mo travel in T Jungl ikl

. ! : un
AR L P s b ook reports  publ

wel o gelloured papors

() Toda summething in tho mont smplot

el Weitinge in newspapers that Uy o
ifluence prople's  opimian by uning

(10T stop yourmelf ram waying vomothivg |
bemuselbwold obottarsitlo | (@) dournalio wiich grass SRy
)T bit offyour tamg il i with o polcew of e gosernents nd




Fill in the hlanks

'#H' MMH senenctd in this seotion has a blank spave and four words or group of
afer the venterice. Select the word on group of words whu eonsider mont appropriate fir the
n indicate your respanme tn the Answer Shiet mocordingly,

o "" 0 mlnﬁm Commisgion  an Saturdny | 88,  Svoros of villagurs arm i mit-in
L S that the Assembly eloctions in protual ugaingt the econstrootivn of 0 new

five States will be held from November 12 to unéurpiss,
| Dhe iy
Decomber 7 tal  performing
(al  pronounoed thi  sitting
W announcod (e} staging
= (d]  standing
ted  promulgated
. ; 48 It is common for patients to atop . B S
() issued i .
medivine as soon as they start o ling babter.
) eating
(hi gulping

o) swillowing

3;!; The vietime were fruit vondars and they were Wi taking
#oimg in am anto wh V !
m::m ﬂ: g " 40 A fouryearold girl got'n' new lease of life
on the way, after doctors wt o hospital —
W) metwits | eancerous tumour from one of her kidnuys,
)
B ran into il
(b} removed
o) experienosd
o e} displaced
(d)  heard d)  ruplaced
BEM-U-TAG .
(6-8)



Ordering of words in a séntence

‘Dirgetions : Each #mﬁﬂﬂwwﬂm in this sectinn consiats of o gengence, the parts of whick haie been
jﬂlﬁ'\'ﬂﬂ' These parts Aave, been labelled P, @, R and S Given below each senfence are fiwr sigqeinces

w lal, fil.'fﬂ ﬂﬂ# felk: You are reguired fo reierfange the jumbléd parts ﬂfﬂlﬂ' sentened and mark your
respopae ecordingly, '

4};“ 'wgmwmwi by the distarbing allegations

we are deeply concerned  and will continue to
R s

W R Qs P

§ P & ®

O 8 2 B Q@




i

igillegal and submitted that the sale of drugs and presapiptinn medicinee
5

o 0w v oy

R §
Q R
e S
d)y P 5

M.  humans and machines hove co-exiated dating back to the invention of
o Q
ﬂiﬁ;’;ﬁttnﬁ,whual.iﬁ anciont Mesopotamin ot the physical level for millennia
R =

P Q
P R

{8}
)
Lo}

id)

T 2 o W

45. nsell-off ay US Trassiry yields E_ﬂfgéﬂ.tﬁ.lﬁulﬁ’-ﬁ'ﬂﬁﬂ HE
P Q
on robust ecotiomic data  global markets also witnessed
i 8

()

= ow

1h]

4
Q
te) R
P

|m s wy e
B w & p
£0:

(dl
BEMUTAG (8-8)



Comprehension

Dirvetions ..fﬂ' this section you havn g whort passage. After the passage, you will find pome items fmedd 0N
- le? - First read. the passuge and then ansuior the items basod an it Yo are ruquiired to seloct yuie
e a-the contents of the pus=nge and apinion of the autlior anly.

Studies serve for délight, for ornament, and for whility. Their chiof tise for delight, i in privateness
nnd retiving, for ornunient, is in discouese; and Tor ability, is in the judgment, and disposition of business:
For expert men can exceute, and porhaps jidge of prticulars, one hy one; but the general counaels, sid
the plots and murshalling of affairs, come best from these that are learned. Tu spend ton nuch e i
stuidios 18 sloth; to use thém tob much for sranment, is affectation; to make jutlgment whally by their rules;
is the humer of a schiolor. They perfict nature, and are perfected by experience: for natural shilities are
like natural plants, that noed pruning, by study; and studies themselves do give frth directions too much
al lnrge, sxcept they bo bounded in by experionce. Crafty men condemn sturdies, simple men adnire thom,
and wise men use them; for they teach nat their own use; but that is 2 wisdom without them, and abeve
thum, won by observation. Ruad not to eontradiet snd confute: nor to believe nnd take for granted; norts
find talle and discourss; bul 'Inwuahnnd consider,

46, According to the author, why should one | 48 According to the author, how can the studies

study ? be parfected ?
- [N i e L e fa) By refiaction.
i i i i ) ﬂmw i

(b
fe).




i - _ B4 Consider the following statemunts related to
Al pper and
upper and lower mantle. Diaynnand’s ides of somal poform

le) trust and uppermont solid mantle.
d)  mantle and Lore,

Doyonand's reform enviiaged o socinl
order, whern differont cutes performed
functions suitable , to thelr status

ditermingd by merit.
2. Dayunand's ‘robust Vedic counterpart’
Bi. The prineipal componentis)  of challengnd the maseuline West that had
Nehri-Muhalanobis - strategy  of  seonomic onslaved (he Aryavarts.
development wasiwere SR atotumment/s ghven abave is/are
oorrpet

1. Hestructuring economic depen
metropolitan  capitalism dmw;,ﬁ (wi  1only
indepondent sconomie development. | (b 2only
to capitalist furming. - (¢)  Both1nnd?2

Flalist te coirreck Mawes Al AHe: Sodd given {(d) Nsither 1 nor 2
I ]',-:'-..;}: J b
=l : 1only 56. Connider the following statemenis concerning
b} 2oaly 1, ‘Thée Amuricans raived the slogan, No
ption withoot o’
2 The American merchants rosarted to the
- | boyeott of th British products.

ow =




6%,

{d)  Migoram

SAMARTH is a flagship skill development

Ministries ?

Who among the fial following were se
Rajiv Gn.m:lhz Khal Ratns Awnrd Eﬁ% for the | gy,

tn)  Vijay Kumar and Yogeshwar Dy
) Sakshi Malik aod Jitn Rai

() Virat Kakli and Mirabaj Chany
() Bajrang Punia and Deepa Malik

Betel i:anf of which gne of the fulluwm: Stutes | 062
hnsbean acoorded a Glmgrnneuﬂy?

tal énd]:m Pradesh
(b)  Madhya Pradesh
(0) Kerala

scheme of which one of the following

(al hﬁm;rtryuf"lhmlu

Which ono of the following statements is not

trug about [farah system ¥

(ml It wasa system of revenue farming.

(hi It encouraged the role of middlemen.

el Under this system, land revenue was
fiowed | for the ponsant.

(dl  The jaradar paid a fixed smount to the
State treasury.

During the Swadeshi movement, a National
College was started in Caleutts ander the

principalship of

{a) Rabindronath Tagore
fhl  Aurchinde Ghosh

el Bajond Kant Sen

id)  Syed Abu Mokhammad

The ruing of Vijgyanagern (Hompi) wers
hﬂughttﬂpuhlitﬁghlhiihﬂynulﬂﬂﬂhrﬂm
fuﬂawmgﬂn&u‘nmﬂ&ynrmﬂmgmmr

{a) James Prinsep

(b Colin Mackenzie
le)  James Renoeil
d) ﬁhm'lm Mm{alﬁ!

‘Which country among the following was not a

part of the Third Coalition against Nupoleon ?

(a) Russig

h)  Prussia



66,  World Humanitarian Day ia cole

54 hrated on 1. Compured to nudible sound waves, ultrasound
m) 26" June waves v
(BY  17Y July (a)  highar speed.
el 19th August (b} highar frequency.

(dy o7th Bailenitier (o} longer wovelength,

(d)  both higher gpeed and frequency.

#7. Which' dne of the following is thi name
to the lander of Chandrayaan-2 7
(&) Vigyan
(b} Ahusandhan

given |72, A rigid body of mass 2 kg is-dropped from a
stationnry. balloon kepl, bl & height of 50 m
from the ground. The speed of the body when
it jusl touches tha ground and the total ensrgy

(e} Pragyan when i1 i8 dropped from the balloon are
(d)  Vikram redpectively
lacceleration due to gravity = 98 m/=")
68. Along with Pranab Mukherjee, how many (a) 980 m.a' and 9804
more persons werd conferred the Bharag (by /880 m.s! and 980 J
Ratna Award in the vear 2019 7 (¢} 980 ms7! and VBED J
(g8}  One =
ol (d) 980 m.s~ and 980 J
te} 'Threa
() Four 73. The temperature of @ place on one sunny day

ig 113 in Fahrenhsit deale, The Eelvin scale
reading of this temperature will be
68. Aishwarya Pissay excels in which one of the

\ (a) 818K
following sporta ? ) 45K
{a) Badminton
(b) Boxing (e} 628K
(¢} Motorsports (d) 335:8K
id) Chess

74. Radiations coming from the Sun are mowtly in

as tha Bast Feature Film in the 664 National | (a)  light anly

Film Awards ? (b1 light and long wavelength infrared.
(a)  Bulbul Can Sing (¢) light and short wavelength infrared,
(by  Hellaro

(d)  beth short and long wavelength
(e} Badhaai Ho infesed
) Ui i



75, Which ur the Ih[luwﬁng.m the ﬂhll‘lﬂ.&ﬂnﬁ“ B, Parndeep Port s loented on thie el of river
nfulhtt:umnmtir

W!'.J'H ? ta}  Hihand
L They are elitiy Wave, .
2. They can alis mayy iy viletium, A Do
al‘

They have electric  and magnotic fe).  Mahanadi
RO which sre

utanll il: i
perpendiculss. m Y dl  Baitarani
4 They move wijh 4 gpe ual to 3 lakh
methrn por gecond, s B1. Which one of the fnliawhln" hypothesis/theory
5“%:: the corréet answar using the eode given oxplaing the origin of the universe 7
oRw el Nebulur hypothesis
() " 1,2, 8 and 4 _
¥ { b’l H‘Jmmm
() 1,2 and g ony
'l 2 and 3 only le}  Big Bung theory
@) 3 and4 only (d)  Planetesimal hypothesis
76, mn;maftha following is o nan-metallie o S . = ) od
T on Gundhi's philosophy of Satyagrah,
() Iron invaived the industrinl working class ?
bl H ll.“ {a) Cimmm
fc)  Copper

B i Khedn




M. Connidor the follawing stutem
Wellosloy'n administrntion . i

L In the mix vears
ndministration, thu gy
425 percent ol the
expenditure,

2;" Wellesley's hddministrative MGasires

of  Woellesley's
Y accounted for
Compiany's total

Were restricted to' the affuirs of the

Company and had nothing to do with
the commereia] ‘and military affairs of
the Indian ruling families,

Which of thy statement/s given above [s/fare
corrget ? |

(a)  1only
(h) 2 anly
te}  Both1and 2

 believed that in &

A thin dise aned o thin ring, both have mass M
and radius B Both rotate about wxes through
thedr center of mass and are perpendicular to
their surinces ot the sume angular veloeity.
Which of the following is true 7

(a)  The ring has higher kinetic snergy
(b} The dise has higher kinstic energy

(¢)  ‘The ring and the dise have the same
kinetic energy

(d1  Hinetic enendes of both the bodies are
#ero since they nre not in linear motion

Let thers be-an ﬁhjwt_'fl.:wing. somé chemicals
in it It starts moving with a uniform velocity
v and & chemical reaction starts happening, In
this case, which of the following statement/s
L. Chemical reactions happening in the
syatom cannot change the velosity v of
‘Chemical mcrﬁurfs amin,
the particles




#h In which of the fuunwing phifem

enn do hent
wWivies trnvel llﬁﬁg i stra
wpeed of Tighy, 2 Ght line with the

ia)
(h

Thermal conduetion

Thermal conyeqipn
(el

)

Theérmul radiation

Both; thermal eonduction and radiation

Which  ong of the following =tatements
regirding Ohm’s law is pot correct

(a)  Ohm's law is an assumption  that
current through .a conductor is always
directly proportional to the potential
difference applied to it,

Ib) A conducting device oheys Ohm's law
when the resistance of & deviee is
independent of magnitude and polarity
of applied potential différenc

.A mnduaﬁngmﬂm‘hlabm Ohm's Im.tr
resistance of material s

L)

ﬂ]l‘

Which ane of the following compounds does
nat oxhibit & different oxidation number of the

snme elomens 7

) 'Pb,0,
by Fe,0,
(o) FeOy
(d) Mn,0,

Which one of the following stalaments about
glass is mot correct 7

Glass is often said to be & supercooled

ta)
Hguid,
ib}  Glass has no definite melting peint:

Which one of the following statements iy
orreot 7



- Which one of tha follsw _
dinmaongd mmﬂ?:-u Matemonts aboyt |g8,  If an olijort moves uh 8 gen-aens ennstant
Lo oe.¢ pecoloration fur n vertain Jilereal of Lme, Lthen

) Diamond
Bk & tetrahodral strctore, the distanco it covers in that time

whetons  graphite has s
planar structurg, - ] i) depemds onits initind velogity.

by

:::mbhm ..mg chemieal propertios of () s independent of its initinl veloeity.
' #raphite are difforont.
Graphite is soft but dinmond i hard.

W Whlﬁbﬂdﬂﬁ\dumd
electricity while dinmond is not.

() (@) inerenses Hnearly with time.

() depends on its (nitial displacement.

A solid dise and a solid sphere have the same
s and same radive. Which ong has the
higher moment of inertia about its centre of
mnas ?

(w)  Tho/diso
Al e

fe)  Both have the same moment of inertin

Which ot of the following statements about| (@ The information provided i ot

mixed in_equal volume aad their relafive
sty b 4. Wi they Sop riised, el
massés, relative density ls 3, The values of py

m&p.wuﬁm |
W 62 \ -~ 5

= S T 1P
m *f:ll p— =
— -




WI'..w..h of the fallowing wan/ware
decisions  taken by the t
Congress held jn Philadel
1774 2 |

nmong s
Firnt  Contis btk

phis in Beptembor

1. It rejected ]

plan: for & colonial
: under the Britigh authority, TR
1. It drew up » statement of grievances,

It agreed uporn i scheme
. Hiween the Colonies and
Select the correc

to stop trode
England.
L answer using the pode given

below -

@l 1and 3 only
(b} 2 emly

el 1uand2 tirly
My 1 2and 3

Which one of the following land territories of
Indonesia is not touched by the Equator 7

ial  Bumatra

(bl  Sulawes

e} dJava

(d) Kalimartan

Which one of the following sedimentary rocks
is organically ormed 7

fa) Shale
(hy Chert
(g} Halite
id} Chalk
According  to  the Koppen  climatie

classification, the letter code Cfa denotes
(#) Tropical wet climate.

(b)  Humid subtropical climate.
() Tundraelimate.
(d)  Tropical wet and dry climate.
hich one of thie following folds is the axial
(a)  Isoclinal
() Antielinal

() MonoEin

14,

109,

108,

108,

110.

[ﬂ—- Bl

How many Ramiar conservation sites hoave
b enlinted From Indin so far 7

@) 12

(b 16

(g) 27

(dy 62

The Mundn language group belongs to which
Funslly ?

ind  Austnic

bl  Dravidian

e} | Binp-Tibetan

(d)  Inde-Furopein

Which one of the fallowing statements about

the Buee Unnal Is mol eorrect 7
The Suez Canal was constructed in 1869,

(n}

ih) It links the Mediterranean Sea and the
Red San.

{e) It has p six lock system and ships cross
the different levels through these locks,

id) It had given Buarope n new gatewasy to

the Indian Cesan.

Which among the following statements is nof
gorrect about the Heign of Tecror ¢

(w) The Joeobing deshed out the Girondists
with the help of sans-culattes;

(hy The Jucohing were in league with the
French elergy.

ich The nrest [or anti-revolutionary
aelivities wae by law restricted to the
paliticsl clngs,

id)  The Reign of Terrar eime Lo an and with
the execution  of Hobespiwere by
guillotine v July 1784,

Who among the following was the frst Indian

to qualify for the Indinn Civil Seryice ¢

(i) Satyendronath Tagore

(bl Surendranath Banerjee

e} RO Dutt

d)  Subhns Chondra Bose



31, Which amang (g
l the fictors for Emmw Wawwore wmong [ 118, The pormal lapee rate of temporsture of

Industrial Rﬂu!uti::i ;:: ?t-‘-i Wptriancy the Eirth's stimesphere deops to 0°C ot the
1. The selontifip hh’unlﬂ . in)  upper part of fenosphere.
way for Indmu-in!_ Ra:unl:;;:: ; AR5 ih)  upper boundary of the tropopause.

h" hﬂd tﬂum .
ctures in Fﬁ sactal and political

3. Navigable | | |
ga e.u;::zm had mude inland|11q, The hendquarters of National Rﬂum.i:

4. It had scen the Lubaratory for Conservation of Culturn

(e)  lower part of mesosphere.
(@} upper boundary of stratopRuse.

prnctini ascendancy of capitalist Property (NRLC) s locatod at
Soloot the:cossst g L (a) New Delhi
below : Rvervsngthecodegiven| 1 Lueknow
(a) 1and 3 only. () Kolkata
B 1 Fand 4 only {d)’ Bhopnl

o 117, Lokialk Luke is situnted in the State of
4 12,3 and 4 (a) Sikkim
b (b) Manipur,
12 Article 46 of the Constitution of Indiarefers to| ' (gighe
() Migoram
la)  religious minorities. 118, Stalactite, stalagmity and pillars are. the

! landforms of
(n)  rumning water.

Riges




j. Witer Is heateg with w ool

|'ml1““.ﬂ1ild. Lo .d“m
_lemporature of wy e ey

of resistancs |
; Y. The i

o will depend gy S
L EuFF'-}[:?Dlhgﬁ,

2.

Current Passing through the coil
3

Time for which voltage s supplind.

Select the corree ANEWr

fro
following w2ty

(nl L, 2 nndg

(b} Tand 2 only
L only

2 and 3 anly

o)
{d)

» A pendulum clock s lifted to « Height where
the gravitational neceleration has a certain
vilue g Another pendulum elock of same
length but of double the mass of the bob is
lifted to another height. where  the
period of the second pendulum would be ;

(in terms of period T of the first pendulum)
@) V2T

124,

125,

o bodiss of mass M each are placed B
digtanee apart. In u:@n-thiar system, two hodies

of miags 2M sadh are placed % distance ﬂ-FHﬂ-
If ¥ be the gravitational foree between the
bodier in the first !}’ﬂfﬂﬂ- i, T:h!m the
gravitational force between the bodies in the
gecond system will be

(a) 18F

by 1F

4 H

None of the abave

(1)
()

Light rays move in straight lines, But through
an optical filire, thay ean move inany type-of
wigeag path becauss .

the holes through the fibre are
() Tlight rays ire absarbed at the entry end

(a)

iel
(e}




131 Thyroid gland produces n hormonn called
non-motsl|je hydrides. “Thyvoxine” which

(b hydrogen Peroxide () controls blood glucose levels,

el ib)  eontrols ovalation.

non-stoichiomete i

: rie hydrides.
d ; s fel  vontrols metabalie rite.
(]l alkali metq] hydrid .

(dl  maintaing pregnancy.

t a monatomic | 182, Which one of the following is # bacterium that
ciises dizpase in the human body ?

(al  Varicolle zoster

b} Helium (b)  Trypaneioma gamibicnse
(e)  Todine el Salmonelle fyphi

(d) Barium (d)  Plasmodium faleiparam

133. Which one of the following - statements
regarding viruses is not true ?
ta) Virusesneed lving cells to reproduce,
(b) All viruses are parasites.
. ) i (o} Viruses can synthesize their food
() Cu>Zn>Ag (@) Vieusos are similar to chomical
@ mugmm substances outside the host.

9, Which one of the following represents the
correct order of electron releasing tendency of |
metals ?

Tllowing 15 £ B8] e by tho defency ofvitamin €2
e (a)  Rickets

CeAly




,

,maﬂkﬂl inu|188. If the work done on the system or by the
South, i"'m-dlim, systuen {4 soro, which one of the following
Em-m“] statements for o gos kept ot A certain

ST, The temperature is orrect 7

2 ho
magnitude of the ave 7. The (ni  Ohange in internal energy of the system
ra 3

for this round trip mvﬂmt}'“‘fﬁhﬂun anqunimnmurheﬂ.mm-nm:ufum
ytem.

(a) a0, (b)  Change in internal enorgy of the system
in les than heat .

(b) 1550 km/hir (€}  Change in intérnal énergy of the system

L O oo than lia Hest flow.
(e} Is 25 km/hr, (d)  Cannot be determined,

) .m“ be caleuluted withou koowing | 189, Consider the following part of an electric
acceleration, cirouit :

136, “The sum of emfs and potential differences
nround o elosed hﬂﬂqﬂﬂh 2w’ v n

consequence of The total electrical resistance in the given part
ezt uf thee elentriv circhit is.
(a)  Ohm's law, . 15 L
. () -E abem
(b} Conservation of charge. 1t
=L S 9 L) AR ] et ] #Im_
e} Conservation of momentim. Ll 7T




